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MICROSOFT EXCEL: DESCRIPTIVE STATISTICS 

 
Working with predefine functions 
To use predefined function: 

 Place the mouse in the cell where you want to obtained the result and from Insert menu chouse fx… 
option and All (under “Or select a category” option) 

 
 From the “Select a function” window chouse the function according with the statistic that you want to 

calculate. For example, to calculate the arithmetic mean of Age the AVERAGE predefine function will be 
choose. In the window of the function (Function Arguments), under the Number1, please select the 
array were the data for age are in the data raw (e.g. E2:E31 for Age) 

 
 Validate the selection of the data by click on OK button. 
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 Once you include the function in the first cell, you can use copy the inserted function for the next 
variables: 

o Select the cells that contain the data that you want to fill into adjacent cells. 
o Drag the fill handle across the cells that you want to fill. 

OR 
o Select the cells that contain the data that AND the cell you want to copy the function 
o On the Home tab, in the Editing group, click Fill, and then click Right. 

    
 
User-defined functions 

 To implement user-defined functions using predefine functions (exemplification for central value): 
o Select the cell were you want the results 
o = (equal sign) 
o Open the first round bracket ('(') 
o Type MAX 
o Open a second round bracket ('(') 
o Select the array of data (E2:E31) for Age 
o Close the second round bracket (')') 
o + 
o Type MIN 
o Open the third round bracket ('(') 
o Select the array of data (E2:E31) for Age 
o Close the third round bracket (')') 
o Close the first round bracket (')') 
o / (division sign) 
o 2 
o Validate the function with ENTER 
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Installation of Data Analysis 
[Microsoft Excel – More commands - Add-Ins- Analysis ToolPak] 
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To compute descriptive statistics parameters by example 
1. [Data – Analysis - Data Analysis – Descriptive statistics] 
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2. Descriptive Statistics dialog box: 

1. Input Range: select the range where the data (including the label of variable) are (e.g. for 
our request the data are $A$1:$A$100). 

2. Specify that you have Labels in first row. 
3. Output options: Output range: specify the first cell from which the output will be displayed 

(place the output in the same worksheet as the date). 
4. Specify that you want Summary Statistics and Confidence Level for Mean. 

 
 
 

5. The result will be like in the image bellow (it is just an example and did not included the 
data used in your exercise): 
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6. Move the name of variables one cell to the right and delete redundant columns. Display the 

decimal numbers with 2 decimals. Your results will look like those in the image bellow: 

 
7. Interpretation by example (birth weight variable): 

Mean The arithmetic average of the 99 newborn child included into the study was equal with 3143.63 
gram. 

Standard Error The standard error of the mean for the birth weight was of 53.66. 

Median The observation that split the distribution of birth weight in half was equal with 3200 gram.  

Mode The observation value associated with the highest frequency is equal for our study with 3000 gram. 

Standard 
deviation 

The population standard deviation for birth weight is equal with 533.94. 

Variance The standard deviation squared for birth weight was equal with 285096.85. 

Kurtosis The distribution of the birth weight is peakedness distribution comparing with normal distribution, 
kurtosis being equal with 2.55. 

Skewness The negative value of the -0.85 for our sample research problem indicates that the distribution of 
the birth weight is negatively skewed. The negative skew indicates that the longer tail extends in the 
direction of low values in the distribution. 

Range The range for our distribution is found by subtracting 930 from 4400, producing a range equal to 
3470. 

Minimum The lowest value of birth weight by newborn in the studies sample was of 930. 

Maximum The highest value of birth weight by newborn in the studied sample was of 4400. 

Sum The sum of the values in the distribution in the studied sample was of 311220. 

Count The number of observations in the birth weight distribution the studied sample, n = 99 

Confidence level 
(95.0%) 

The value obtained represents the amount of error subtracted from and added to the sample mean 
when constructing the confidence interval from the population mean. For our problem, the 95% 
confidence interval is: 3037.14 ≤ μ ≤ 3250.13 

 


